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Lösung 307  (zusammengefaßte/verkürzte Darstellung)

Kontierung
Betrag

Nr. 
Soll
Haben
   Soll
     Haben

1 a)
6700 
an 4890
2.000,00
2.000,00

  b)
4890
an 2800
2.000,00
2.000,00

2 a)
6050
an 4890
8.200,00
8.200,00

  b)
4890

8.200,00



2600

1.312,00




an 2800

9.512,00

3 a)
2690
an 5710
300,00
300,00

  b)
2800

600,00




an 2690

300,00



an 5710

300,00

4 a)
6700
an 4890
200,00
200,00

  b)
4890

200,00



6700

100,00




an 2800

300,00

5 a)
7510
an 4890
1.600,00
1.600,00

  b)
4890

1.600,00



7510

800,00




an 2800

2.400,00

6 a)
6160
an 4890
400,00
400,00

  b)
4890

400,00



2600

64,00




an 2800

464,00

Lösung 310  (zusammengefaßte/verkürzte Darstellung)

Kontierung
Betrag

Nr.
Soll
Haben
   Soll
     Haben

1
6700
an 4890
300,00
300,00

2
7510
an 4890
600,00
600,00

3
2800
an 4900
850,00
850,00

4
2800

6.600,00




an 5400

1.200,00



an 4900

2.400,00

5
7030

100,00



2900

500,00




an 2800

600,00

6
6920
an 4890
2.400,00
2.400,00

7
2690
an 5710
450,00
450,00

8
2800

9.000,00




an 5400
4.500,00
4.500,00



an 4900
4.500,00
4.500,00

9
6900

400,00



2900

2.000,00




an 2800

2.400,00

10
6150

4.000,00



2600

640,00




an

4.640,00

